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J/A(K)EN  |OBEILFEED — 0.09 — PA-1000
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gt dilvER (1) — 0.08 — PA-1000
3/4UK)EY  |QOKRBEILTEED — 0.06 — PA-1000
QR ERED — 0.07 — PA-1000
gt opilvER (L) — 0.08 — PA-1000
9/5(R)EY |OREILFEED — 0.07 — PA-1000
QR BERED — 0.07 — PA-1000
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gt ilvER (L) — 0.10 — PA-1000
9/5(A)EN |OEILFEER — 0.07 — PA-1000
O ERED — 0.10 — PA-1000
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Ot opilvER (L) — 0.11 — PA-1000
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Ot opilvER (L) — 0.13 — PA-1000
9/8(A)EY |OWREILFEED — 0.11 — PA-1000
QR BERED — 0.14 — PA-1000
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11.78(K) BN |OREILFEED — 0. 11 — PA-1000
QR BERED — 0.14 — PA-1000
gt dilvER (L) — 0.14 — PA-1000
9/13(&) BN |O#kELTES — 0.13 — PA-1000
O ERED — 0.15 — PA-1000
gt dhilvER (L) — 0.13 — PA-1000
779(K) BN |OREILFELE — 0.15 — PA-1000
O ERED — 0.16 — PA-1000
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Ot ER (1) — 0. 28 0. 25 PA-1000
210(&) Bh |OwEITES — 0. 20 — PA-1000
QR ERED — 0. 25 — PA-1000
‘ OButhriLEp (1) — 0. 26 0.24 PA-1000
1/?2(&5312%) QR BEIL TR ED — 0. 25 — PA-1000
QR BERED — 0. 28 — PA-1000
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9.7140K) BEh |EHsdiER (1) — 0. 34 0. 29 PA-1000
977(K) BEh |ButehihER (L) — 0. 32 0.27 PA-1000
8.730(K) BEh |EHdiEB (L) — 0. 32 0. 31 PA-1000
8.724(K) BEn |EbdiEB (L) — 0. 25 0. 24 PA-1000
8170K) Bh |EubdhEB (L) — 0. 33 0. 31 PA-1000
8100K) BEh |EubdhEB (L) — 0. 30 0. 29 PA-1000
8.730K) &Y |EHuiLE (L) — 0. 31 0. 30 PA-1000
77210K) 2Y |EibE(£) — 0. 29 0. 28 PA-1000
7721(K) &Y |EhihE (L) — 0. 35 0. 32 PA-1000
1714(K) Bh |EHdDEs (1) — 0. 36 0. 34 RDS-30
171(K) &Y |EhibE (L) — 0. 40 0. 35 RDS-30
6.730(K) B |EHbdER (L) — 0. 33 0. 38 RDS-30
6.723(K) EY |ButdEs(L) — 0. 38 0. 29 RDS-30
6/?2%@&%” Bt DER (1) — 0. 34 0. 38 RDS-30
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